
==
74
81

3×
==

7× ×
× × 1× 5

= ×

=

7 3

=

15

75
÷ ÷ 3

= × ×

÷

② 3 ÷ ÷ 3④÷ 2
11
7

= = 1
5 7

5 9 ( 1)

× 5

5

= =
6×
× 1× 9× 4

× 3 4

6 3 4 5
= × × = ×

1 9 4

3 4
= ÷ × = ÷

6
9

① 2 ÷ × 3 ③

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

1 1 1
2 ÷

6 3 4

12

26 1.25

0.55

11

⑪ 仕上げ

11



5

= × ×

==
74

×

81

==
7

×

5
= ×

7 3

= ÷ ÷ 3= ÷
7

② 3 ÷ ÷ 3④÷

4)= = 1
5 5

2
75
11

5 9 (

= =
6× × 3
× 1× 9×

6

4
4× 5

= × × = ×
6 3 4

1 9 4

3 ③ 2

3 4

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

1 1 1
① 2 ÷ ×

9
= ÷ × = ÷

( 1)1
7

÷
6 3 4

5

5

1

× × 3
× × 1

13
26

12

10

1

1

2

5

18

2

1

10

10

12

12

26

26

26

12

20

1.25

125
100

5

4

0.55

11

55
100

11

20

11

20 11

4

1

1

1
11

11

11

⑪ 仕上げ 答え

1

11
4

1

1

11

13

13

22

11

11

22

22


